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n the margin indicate full marks

The figures i
for the questions.

PART-A (F -S)

Q. No. 1 carries 1 mark each (any Sixc)aadicbe. 16 =6
Q. No. 2 carries 2 marks each (any five) ............. 2x5 = 10
O. No. 3 carries 4 marks each (any three). ... 4x3 =12
Q. No. 4 carries 6 marks each (any two) ............ 6x2 =12
Total =40
pPART-B (2 -=) .

Q. No. 5 cqrries 1 7T each (Any SiX)....cococevee: 6= 6
Q' No' 6 carries 2 ks each (any five) ............ 2x5 = 10
' No- 7 carries 4 marks each (any TR ) v ios. 4%3 =19
8. NO. 8 carties 6 marks each (any two).............6%X2 =12
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PART-A [ F-99 [ T-9 / -G

( Contemporary World Politics)

(WﬁWW%ﬁﬁﬂamﬁms)
(Wﬁ’g@@%) ﬁm@ﬁgm‘gmﬁﬁm@wgm?
( EHST Tl 3@‘77% W@ﬁr) : | (d) Which country is regarded as the third alternative centre

of world power ?

@ﬂ]wmmgﬁﬁﬁﬂ Fﬁ"‘i?ﬁ@‘—'@@'?

1. Answer any six from the following questions -

1x6=6 .
Erafe deell (A @@ BA6 AR T (Y ¢ ' omfer HerE] el fire gt 5@ TRl g SR 2
ﬁ io ? ﬁ ﬁ ,ﬁ F i . i "
AT Fert - () write the full form of SAFTA.
(a) India is a member state of ASEAN
T (Write Yes/No ) of HATO! ferl |
SAFTA @ 77
oiEe SifEmE 770 g | ‘
(/723 fvan) | o el Ceeell
s @REGEE (ASEAN) 377 13| s SAFTA~ 711 *
/A T | Lot ?
e e SR S . 4 | SAFTA-T arg 7l
(il 727 forg d United Nations’ day ?
. ; brate as 3,
(b) Who can exercise the Veto’ power in the Seri / (f) Wwhich day 18 celf
K Ity Cou 2 3 Twalel 91 28 7
fiofal ARE7E “CPF S G AT IR g el o oifrd TEE fie ¥
¢ e BT
Fretl SIFECT ‘COTT < | MR 6
qi7el Tl (AT s Mz | @l (0o 918 :
garfer SRR G 92 TR SRER e ) o AT am’ﬂﬂm
th | o
(C) Which State 18 the Successor of the Soviet (g) Writé yes' or NO
i hion 7 (
aTg @W‘i}ﬂ 9 : @M"’m’ ﬁ;{iﬂ b3
| ezl
25/POSC bl e Al 8
al [3] Contd.
25 / POSC




(h)

()

St ger Aot ol

Technology is an important phenomenon of gl . g
mﬁ?fm e i (ﬁ@?ﬁ i globalisation.
ergfefr e @5l wweelel e

TR A TR TSR Gﬂ?ﬁl‘

What is Greenhouse gas?

Sreies ¢ 7

SR A T2

Trer 7' " WY

[n which ye :
bomb ? cessfully tested itg f
1rst nuclear

@ TEE TROC AU ARTARE A5 RS
@ T SIS U AREEARE 2| W\J SR T
i T T 5 6 e
What is the full form of WTQ 7 \

WTO @ 77 SB[ 2 |

WTO-ad 779 TG Fe

WTO-fA &7 W&’ A?

Answer any five fr0

m the following questions : 2x5=10

Gafe w7 oAl Anel 2 T (Gl

(aj Wri

e erel (00 - Sf5fs e TR (Al &

ot EEEARE A g el kel Tl
.--ﬁ u?i:' ?$~*G{mgﬁ}ﬂwuu*wl
or / &/ wgat / T

Wwrite short note o1 - gacred groves in India.

63 |

Wwﬁeﬁg@@‘?f@@'{

, e AeE TE

:Wﬁvﬁmmm;

ge ferem™
Mention &/ y two countries in South of India who are i
men’lbers AARC-

Gfaed e 4! ¢ (R F9 T TES GEIN

2

e (7S SAARC-9A (F-(FIC 7o T G T
WAL ¢

Gl

il ot AT GAARC Fi STAfEST L T g
fea |
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(c)

|
\i | (d)
|
|

(e)

()

Write tw v
o causes of disintegration of Sov;
iet Union.

(@feas TTfmm oo 7b) R g
A
Fiferre 2o Ufeswacem 76 e Gl
T @
nfm MY WA 7Y S8 fog
What is meant by South Asig ?
el @il 5 2 |

wi=re ORI FETCS ) @R o

Pakistan.

P P ;
; [bmawm"wﬁ?@ma]m
O 751 e
I Tra
74

Az oo efedm g =l |

Al
JRRIRIO
T TSR g9 ity B ﬁmﬂ%ﬂ*’wu
G HEIRICE: {4
rite th I = .
© Permanent member natj SR fe |
(5]

fFateral
() CUT
Urity Council-

AfRere 2
N Al
g (PR T &
TR |

fiorel s wH 5
i ATy AT T
SR |

o YA (SMTRfy) fy 4
. ‘ A % fn

(61

from the following questions : 4x3=12

Answer any three
e aeEe 7 Rl fofan! 2sim Ted fordl ¢
Frfie awef (@ (A o s e (ST 8

RIS iR am@ammﬂwﬁmm:

(a) Write o arguments in favour of and two arguments against

Globalisations.

e 5T T IR 751 (o e Fd |
R g6 ZEAe AN 7l (FReAns e Rl
(b) What is the hecessity of Iﬁternational Organisation in the -
world ? Explain its role.
e GG oty ST 1 ¢ T g I
e ma@ﬂ seal TR B AR £ il i
Wg@mymﬁuﬁﬁmm?éﬁwwl
of conflict between India and China

i s
(c) [dentify the cause .
ur solutions.
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(d)

(e)

05 / pOSC

OIS AR BT T RRnem e e

AWl A |
Hd =TT T =
mﬂmn@mmaﬁmm@
qEE YT | 8 R geEiE

| Or/ﬂ]???’/@;rw/w

Write a note on European Unj
on.

TRITH e 6ol a5 Coret foey
FEEIT KA Tl ol Ty Gl |
SIOR WS A B fergems fig,

What is the :
. Balance of Power ? 2y
this balance ? can g Cont
‘ I'y maintain

TR A4S Sl
qTa\T\T F N
TR % 2

How is the relationship between |
Ndig
SIS w7z Celof
I W= EeileTe e syosics (T
‘ 2 Y7L '\I ?
YIRS G35 @A Wy Sy S
; > TR 9
SN U TR Grereey A&tz -

[8]

Answer any tweo from the following questions : 6xD=12

~

P ~ = i
s erFTIRa Pd1 faeeie F5T 2 eS¢

Rl emel (A 7l ATsE Ted (Tl ¢

(a) What is the stands of India for environmental issues ?

LR (CRIGIRNSERICACIE SR (gl 2

o] FRIE A RTOT sl S
el fafaema HRd e e HEE ?

or /FZ/ T4/ T

what is the relationship A i he Lol o Tndisenisids
people and environment? Discuss briefly.

Crd 1l -@ﬂ*ﬁ(m’ﬁqﬁ iz S HE<IR SR T0F & 2 59 SEIG
IEGIGE A0S

&4l |

—— T T AN T A

Cﬁfﬁ‘gf 6?7‘{7“

W@Wﬁmaﬂmi'é“mﬁm?zﬁw'
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(b)

(c)

25 / pOSC

Wi
1at is Shock Therapy ? Is this the begt way fi
or transition

from socialism to capitalism ?

A9 wlifes] i 7

“i< (Shock) (%ﬁ“ﬂ & SRR CQKEF W .
& a6 <= e 9 By QESS I ERET )

Tk emfy (Shock therapy) 717

%WW

WWWWWWW>

S i

T fFraeig)
o) ? DY WIS 2y

AR Fierg) Yo
. NS Ll B¢ WC\JT"Wﬂ rw
-+ OB 39z

[10]

PART-B / -9 / 4-3A / T-sETI

( Politics in India Since Independence)

Answer any

( TS ©ITed AT )

(Wr??m@?@rammﬁ%)
(mﬁﬁmwaﬁmﬁ)

six from the following questions :

ﬁﬁ%ﬂ@mﬁwwﬁz@maﬁm@@m:

(a

(b)

) 1n which year Bh
SRR

@ﬁ@ﬁlﬁﬁﬂ
mqﬁ@mmmﬁaﬂmaﬁnﬁﬁ?

BIGIR

which Par

m@mmmwﬁ%?

S IR A o0 T TRl

ty won the 1977 General Election ?.

1x6=6

aratiya Janata Party was formed ?
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BLESNE TS e S s

(c)

(d)

(e)

e 1 POSC

Which princely state conducted electi
A 3 ection on the b
asis of

Universal Adult Franchise for the first time 7

(@A (PR e RIS A AR (i
W%wm—

o © ’Tﬂ%‘\ﬂ Cf‘%ﬁ e

AYTE(EE T 2eFTE (SbIRTE Sifew
" NINE i
PN TR A

Fdima \ulcil?f)\s 281@?1?

aﬁmmﬁr&x@aﬂwa@wm
WH%Trenq
RIRICRED)

T ToeraEte S ?

Who was the Prime Minister of India after Pt
Jawarh
arlal

Nehru ?

GAZTA (FZA (TS SIIST AUTTE] (R Wiy
=

GegERE (e R SRISH Y4l (5 R
5 : 3 ?

WWWwﬁmqﬁwa)

From which year the first Five Year Plan |
Was
tdl‘ted 2

(ol Bee ol 22w AR AR e e
[B57 2
(R AR (2T AL AL AT Y gzt o
H12e ¢

aé’nrqmﬁwaﬁﬁamdﬁmﬁﬁmﬁqaﬂww
?
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()

(9)

(h)

(i)

What is- the full form of EVM ?

pyM 7 Al T Fr
pvM-aa 4 o el

pyM-fT ag Fed A

Who was the chief architect of India’s foreign policy ? -

W@Wﬁﬁﬁaﬁnﬁv{%ﬁﬁqfﬁw@m@p
Wﬁtﬁﬁﬁﬁﬁﬂﬂ?ﬁ%ﬁﬁmﬂmﬁ
ﬂﬁﬁﬂ@ﬂmﬁ@fﬁ”ﬁﬂamﬁﬁmww7

When was gikkim merged with India ?
en

& e

Wa—ﬁ@mﬁam@ﬂ?

rm@mmﬁwm7

H first non- -Congress Prime Minister of India ?
the
Who was

Bt ol (SR S 7
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() When was Assam Movement organised gn foreigners’
ers

issue ?

RO R (5 S SICER (SR el s o

mewwmﬂw%mg

TR SR T A WA W S S
Answer any five from the following questiong
o eETEE ASl ARl 5hT e e R o
freftas emief (A @@ Al At Ten ey
TR SAPERE TEfEE A e .
(a) Explain the c'.oncept of ‘whip’,

2ol AIFENCh! T < |

Whip’ 4= W15 ST |

‘Whip’ THGHUE! A |

(b) Write a short note on : White Revolution

5 (Bl ol ¢ v [z
o T (el ¢ (9S [@eE

[14]

2x5=10

(d)

(e)

On which date draft of the Indian Constitution was signed

‘and it came into force ? |
@nﬂ@@tﬂw@ﬂiﬁmmwa@mgmw
TR T2 7 % |

i Sifcd OReoT AR TGS TR AR IR o =@
ol R TR

WWWWW@W(W)WWWM
aﬁxqmrﬁwﬁaﬁmma@iﬁﬂ?

Mention wo objectives of Nehru’s foreign policy ?
entl |

mﬁwﬁjﬁ 75 Sol Sred T

w@m@ﬁ@ﬁaﬁmﬁaﬁﬁﬂ
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Answer any three from the following questions

e eepnzs sl R fofHs ene Teg fe o
f=fie wwielrm @@ foTT 2R Ten @y -

TR HAEREE e THIE R f

(a) How did the fourth General Elections in 1967 y

dynamics of Indian politics ?

OIed ACHIOR ASAETORE 1967 iﬂ‘q’

o9 e T
S R [RGE &

SRS A Ted FfSAFToNE 1967 JiEg

B@Qf"ﬂﬁﬁc[ ﬁ?ﬁm =
e TraRe ? Freie

TRAM TSEtaf SETEEEl 1967 ArEemfy £

©laga A 61 bR 55T @RHEy R
SRR IS (Fl ATHER GHG TRk GFTC=) |
WA S S HR A sgee R

weeleeE PTG 9 T s Ao
siislremmma TP TSR T 1 s itz
3
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4x3=12

hange the

Tora o

(b) Write four features of India’s coalition |
gOVErnme
It

How the problem of Regionalism G :
0} Ved "_)

e —

0sC

or /7=al/ G/ TE

- ' -Kashmir.
Give a brief note 011 Jammu-Ka

G-I 87T «fo C‘G\?ﬂ ferat |
o iR TA G0 wfre Bl (R
e T AR A forgem fo |

. - : s )
_ the causes for mid-term election 11 1980 -
What were -

omﬁmﬁﬂﬁaﬁmmwm%%m@ﬂ?
1980 B -

& selef 1 F e
3 e PRI
1980 I

\J(: 5 . I?F[‘)
ommﬁﬁ@m‘q@ﬁﬁmmm
198 :

or /FE/ TR/ T

xr D
: -0otT e and why :
wenty Point Programm L

Revolution? Discuss the economicC and
Greeﬂ

what is Ame of Green Revolution.
tc

e L . Vo .

poll'tlba ﬁ @Qﬁﬂf@@ W& e [oF 6 Rl SEAIDI
& QA
e e g
v\./
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EEIGIECRAEEPET el :
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g?Iaﬁjéﬁ?v@@iﬁﬁ@ﬁtﬂ#&ﬁ?ﬁéﬁiﬁﬁﬁ?ﬁﬁ?ﬂﬁmﬁﬁ

FEn ST

I |

Ans |
nswer any two from the following -

fFrefEe whef (I @@ g ae ﬁ
1 e (oM
ngmﬁ{éﬁmnﬁﬁﬁ=maﬁ$mqrﬁﬁﬁﬁ'ﬁ%?M'%ﬂ

a
(a) When was the Bharatiya Jansangh : ;
ideologies. : g1 formeg »

Eﬁ@ﬁj@mﬂﬁ]@ﬁ%ﬂi”@“’ﬁﬁﬁi?imévmaﬁw%mw
S SNy

F(E OFST GOk S5
] \9 mﬁ@[? g WW E
y it %fﬁ;\” S
RS

WA S HE TR SR 2 A6 ey s
Or /71231/we / war e |

Ana]yse comparatively about th
-dominance in India. S

Tlaes AT iR gie 5
ISICHOIb G
TS ey
ate] <) [

wlEre aad ifdeired ohs 7
| R O e e
S L N %TW
2 G C‘ wm
" " |

Thert STifEemn =1 ? T i@ty g ,
B2 ey
SRR

6x2=12

Discuss its

41 |

of CongresS

RIGEioe l

[ ysC

qaE S TesAE STt Fmm
: 3§amﬁ1§ﬁﬁf
£ i o -

RLEES
(18] 8l

(b) What ar
State with United Ind

G Emﬁs@ﬁﬁﬁ%ﬁ&ﬁmﬂq255ﬁﬁ?ﬁwaﬁh@ﬁwwqiﬁﬁ
ﬁS?ﬂiiﬂﬁscamwﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁtﬁ@ﬁ?

e the main considerations of the merger of Princely
ia ? Who played historical role in it ?

@ R

What is Foreign Policy ? Explain briefly.

e A f ¢ 7T T

Wﬁf@ﬁ@ﬂgﬁ‘?{ i
g T |

o e @
or T/ w2l / T

te on non—alignrnent in India’s foreign policy.

a no

- Write
= ﬁﬁﬁﬁﬁ@*ﬁ@iﬂwmﬁ%aﬁ'ﬁﬁmf%ml
S Wﬁas ﬁ’[ﬁﬁ G

@ﬁﬁ@afﬁﬁﬁWSﬁﬁaﬁ
A PR

mﬁﬁiﬁﬂﬁ%@Tﬂ*ﬂéumﬁ%ﬁﬁﬂcﬁmmz
Srestt A =fie (Non-alignment) sl
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